Assessment Methodology Flowchart



Perform HL comparison routine using the moment ratio method








Interpolate capacity  (See NOTE in the box below)





NOTE:  If working stress capacities are available for the 100% and 140% working stress levels, then intermediate stress level capacities will be linearly interpolated.   For example, the 125% stress level will be given by 


0.625x (25/40)  of the difference between the 100% and 140% capacities.





Use f=120/L for the frequency and find the max DLA from the BDS Code graph at ±0.1f [May customise Code graph  by editing the DLA-Frequency file using a text editor]





Specify ultimate load factor (ULF) and/or working stress factor  (for working stress check) on vehicle





Compare Mwc to HL effects (M() at normal, 10kph and 5kph speeds:


M( = LL effect  x (1+DLA() x DF(





Compare Muc to HL effects (M() at normal, 10kph and 5kph speeds: 


M( = LL effect x ULF x (1+DLA() x DF(
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Is the  working stress factor set to 140%? 





Does the “full overload” (e.g. 140% O/S) Working Stress Capacity (Mwc) exist?
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Does the structure have “Check working stress?” flag set to Yes?
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Does the Ultimate Strength Capacity  (Muc) exist?








Use specified DLA





Is a dynamic load allowance factor (DLA) specified in  the structure data file?  (For simply supported continuous bridges, each span may have a different DLA)





Does the base 100% working stress capacity exist?  
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Check each structure on the route using the following procedure:
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